2RXS J131738.5+711448

gamm*meka

930413 0147

T —

L L

R
R
o o o o
L | L o | L | L |
(A93 s zwd)/suojoyd
TTTT T 1 MITTT T T MITTT T T LU
|
- T —
TN Dt ITTEN e,
7 ¢ 7
o o o
L | q— —

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

QO — <
T 99
» @ o
e o K
a — a
| | |
+ + +
- o ™ — <
T T 9 99
[ =] [£3] e3] 23]
[0} © o < [e0}
® N o o u
(aY] [aV] -~ wn fad
Il
() 1]
-
© — Il
S ] >
()
s % ' x E
. 2 = o
n [z, z B z
LI L L L L
7%
— 7H¥ —
T ]
[~ —
-
» i i
i i
w0 A [
a o C}l
srenpisey

1.00

0.10

18

X2req = 0.801

Energy/keV



